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Define a Bronsted-Lowry acid. Why are all water-ion acids considered to be Bronsted-Lowry
acids?

2. Wite the chemical equation for the addition of a proton to each of the following:
NH;, H;0, HCOs, COs™, CN', OH".

3. The bicarbonate ion HCO; s amphoteric. llustrate this property by using appropriate
equations.

4 Listall the Bronsted-Lowry acids and Bronsted-Lowry beses from among the following: SO5*,
AICI, CI, NH", HO, HBr.

5. Wite the formulac for the following anions: aluminate, carbonate, antimonite, hypophosphite,
sulfut, chlorite, hypobromit.

6. Write the formulac for the following: mercury (IT) chromate, manganese (IT) phosphate,
nickel (1) carbonate, ilver sulfat, iron (1) nitrat.

7. Whatis the relaionship between the strength of an acid and the numerial value of ks?

8. How will e folowing ons rest with wate: T, NO, K', Bi*, Be*?





[image: image2.png]9. Predict whether aqueous solutions of the following salts would be acidic, alkaline or close to
normal: KCI, NHNO;, AlBr;, Na(HCOO). Supply an equation for cach.

10. Predict whether aqueous solutions of the following salts would be acidic, alkaline or close to
‘neutral: Fe(NOs), NHiCN, KI, LiCH;COO.

11, Identify the acids and bases according 10 the proton transfer concept in the following:
2) HNOs(1) + Hy0(1) € H30'(aq) + NO3 (aq)
b) HCI(g) + NHx(g) € NHy (ag) + CI(a)
) HS041) + H:0()) €> H:0'(aa) + HSOrfag)
@ H0() + H0() € H0'(s9) + O (2q)

12. Write equations to show how CO in water becomes acidic and Naz0O in water becomes basic.

13. Whatis meant by hydrolysis? Give examples of three ions which each hydrolyse to give:
&) an acidic solution and b) a basic solution.
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[image: image3.png]4. 32.0 mL ofe 0.IM HyS0, is required to precipitate all the barium ions from a solution of
BACl What mass of BaCl; was present in the solution?

5. Calltethe pH ofthe folowing solutons:
010 MHBr ©) 0.10M HT 9OI0MHNO, ) 0010MKOH
900IMBIO),  DOOIGHMECI  pOISMECI  kyooi2MHCl
a)
)
F — ,
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6. Calculate the pH when the following are added to 100 L of 0.100 M HC solution. Assume
there is 1o change in volume.
2)0.010 mol of KOH )0010mal of NGOH ) 0.050 mol of Ba(OH);
d)0.100 mol of KOH ©)0.100mol Ba(OH);  1)0.082 mol Ba(OH):
a -
b _
9
9
9
9

. Determine the pH ofthe sofution formed by mixing equal volumes of the two solutions in each
case.
4)0.10 MHCl and 0.10 M NaOF +)0.20 MHCl and 0.10 M NaOH
©)0.10 MHCl and 020 M NaOH @040 M HCl and 0.20 M NaOH
©0.20 MHCI and 040 M NaOH £0.10MHCl and 0,10 M Ba(OH);
2
b
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